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SHERR4) BRAFEAS AER T — RAR LA 3 —RAR B EE B R TBE B
A X1 gk B p=dkd %A*;dzxz B T .::éﬂz LS pdkd gk B | (CX2/%1)
B0 1 2 1 1 2 1 1 2 1 1 2 1 1 2.0
EEEXEL 1 22 2 20 20 2 18 1 0 1 1 0 1 20.0
Bk (BER) 1 7 7 0 7 7 0 1 1 0 1 1 0 7.0
FEED 35 44 8 36 43 8 35 35 7 28 35 7 28 1.2
ERR244 78 |BhERT 3 3 0 3 3 0 3 3 0 3 3 0 3 1.0
FBIRAER |2 EMGTRED 1 5 4 1 5 4 1 1 1 0 1 1 0 5.0
Eiesn  |BERBRERE 2 11 3 8 9 3 6 2 0 2 2 0 2 45
EEEEL 1 3 2 1 3 2 1 1 1 0 1 1 0 3.0
BRI FHt 1 8 5 3 8 5 3 1 1 0 1 1 0 8.0
SEEEL 1 It
B R (SREREE- EAER) 1 2] 1 1 2 1 1 0 0 0 0 0 0 2.0
T 1 LAY
&AM 10 12] 2] 10 10 2 8 8 1 7 8 1 7 1.0
FER244E128 (BhEER 2 IEEEHGTL
FIRER |[EEREL 1 3 1 2 3 1 2 1 0 1 0 0 0 3.0
s ([EBEEEL 1 1 0 1 1 0 1 0 0 0 0 0 0 1.0
BimiE(ZERREEL) 1 3 1 2 3 1 2 1 0 1 1 0 1 3.0
B 37 R (AR IR R R ) 1 2 1 1 2 1 1 1 0 1 1 0 1 2.0




